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ESCUELAS OFICIALES DE IDIOMAS DE LA REGIÓN DE MURCIA 
PRUEBA ESPECÍFICA DE CERTIFICACIÓN 

INGLÉS C1  
CONVOCATORIA EXTRAORDINARIA 2022 

PRUEBA DE COMPRENSIÓN DE TEXTOS ORALES 
Esta parte de la prueba consta de TRES tareas. 

DURACIÓN TOTAL: 45 minutos  
 

INDICACIONES: 
• TODAS las respuestas se escribirán en la hoja de respuestas. 
• Emplear tinta permanente azul o negra. No usar lápiz. 
• Corregir tachando el texto. No usar correctores líquidos o cintas. 
• Puntuación total: 26 puntos. “Apto” ≥ 13. 

DESARROLLO de cada una de las tareas: 
  Tiempo para leer la tarea a realizar 
Primera escucha 
 Tiempo para pensar y responder 

 Segunda escucha 
 Tiempo para f inalizar la tarea 

 
TASK 1 ► Listen to a part of a news bulletin about the air pollution in Delhi. Choose the best option 
(A, B or C) according to the recording. Write the corresponding letters (A, B or C) on the answer sheet, 
in spaces 1 to 8. The first item is an example. 
 
You will hear the recording TWICE.                         8 points 

 
 

EXAMPLE: Smog in Delhi…  

a) …has little effect on people. 

b) …is a new thing in the city. 

c) …may bring measures never seen before.✓ 
 

 
 

1. In Delhi… 

a) …a complete lockdown due to pollution has been 

imposed. 

b) …people are advised not to walk outside. 

c) …students and civil servants have already been 

sent home. 

5. People in Delhi wonder… 

a) …up to where the levels of pollution will rise. 

b) …what the measures to avoid pollution will be. 

c) …why this is still happening after all this time. 

 

2. Regarding face masks, people in Delhi… 

a) …are used to wearing them. 

b) …don’t think they are useful at all. 

c) …wear them only indoors. 

 

6. The burning of crops… 

a) …has very little to do with pollution. 

b) …is one of the reasons for the toxic smog.  

c) …is prohibited under any circumstances.  

3. The levels of air pollution right now are… 

a) …at their peak. 

b) …expected to fall in the next few days. 

c) …not as high as in the last days. 

 

7. One of the factors that cause air pollution in Delhi 

is… 

a) …electronic waste. 

b) …farm animals. 

c) …the use of fireworks. 

4. PM2.5 particles are dangerous because they… 

a) …are really bad for your eyes. 

b) …are easily transmitted.  

c) …can stay inside one’s body. 

 

8. Construction work… 

a) …has been stopped for the next days. 

b) …is to reduce its impact on the environment. 

c) …will be suspended if the situation gets worse. 
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TASK 2 ► Listen to 5 reviews of different applications that work on devices of the brand Apple. Match 
each sentence (9-16) with ONE of the apps (A, B, C or D), according to the recording. The first review is 
an example. Write the corresponding letters (A, B, C or D) on the answer sheet, in spaces 9 to 16.  
You will hear the recording TWICE.                      8 points 
 
VERY IMPORTANT: Each app (A-D) corresponds to TWO sentences (9-16).   

 

 
 

TASK 3 ► Listen to a piece of news about the 40-hour work week. Complete the gaps with ONE                    suitable 
word from the recording. The first item is an example. Write your answers on the answer sheet, in spaces 
17 to 26. 
 
You will hear the recording TWICE.                                       10 points 

 

 

 

 

• How work and (17) ________ have changed is being researched by Benjamin Hunnicutt.  

• Hunting and (18) ________ was the starting point of the human history of work.  

• The second period of the history of work can be called (19) ________ work.     

• Late in the 19th century, the work week started to (20)  ________. 

• Studies found a (21) ________ to working even 10 hours per day.  

• People working on a high-speed (22) ________ line stop being productive after 8 hours.   

• A way to tackle the lack of jobs was by (23) ________ the remaining labor out.  

• According to John Maynard Keynes, better technology and more (24) ________ would mean working 

fewer hours. 

• Now, it’s largely in (25) ____--____ work where companies experiment with shorter weeks. 

• Shorter weeks are not likely to spread (26) ________ across the country. 
 

EXAMPLE: A number of companies are EXPLORING a reduced work week. ✓ 


